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1. Solve .

Watch Video Solution

log
log2 ( )

(x2 − 10x + 22) > 0x

2

2. Solve .

Watch Video Solution

logx+ (log2. ) > 01
x

x − 1

x + 1

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_5gvOVgwuxMLu
https://dl.doubtnut.com/l/_btmliNxU5z5S


3. 

Watch Video Solution

(log)0 .5 < 0
3 − x

x + 2

4. Solve : 

Watch Video Solution

(log)2 > 0
x − 1

x − 2

5. Solve 

Watch Video Solution

(log)0 .2|x − 3| ≥ 0.

6. 

Watch Video Solution

log2|x − 1| < 1

7. Solve :  2(log)3x − 4(log)x27 ≤ 5 (x > 1)

https://dl.doubtnut.com/l/_o6Djuule90np
https://dl.doubtnut.com/l/_3eQ5xrxJewVV
https://dl.doubtnut.com/l/_GKFHOo9GZUOM
https://dl.doubtnut.com/l/_jnelxbsVdcYh
https://dl.doubtnut.com/l/_1nq79ayX8uBl


Watch Video Solution

8. Solve : 

Watch Video Solution

(log) ( x+ 3 ) (x
2 − x) < 1

9. Solve 

Watch Video Solution

(log)0 .04(x − 1) ≥ (log)0 .2(x − 1)

10. Solve: 

Watch Video Solution

(log)3(2x2 + 6x − 5) > 1

11. If the equation 
 is solved for 
 in terms of 
where 


 then the sum of the solution is
 (a) 
 (b) 


(c) 
(d) 

2x + 4y = 2y + 4x y x

x < 0, x(log)2(1 − 2x)

x + (log)2(1 − 2x) (log)2(1 − 2x) x(log)2(2x + 1)

https://dl.doubtnut.com/l/_1nq79ayX8uBl
https://dl.doubtnut.com/l/_cjf9qLpiZkoz
https://dl.doubtnut.com/l/_wHkmoPzevh88
https://dl.doubtnut.com/l/_IM1HaCMWK0jC
https://dl.doubtnut.com/l/_WSo36fszJXV1


Watch Video Solution

12. If , then which of the following is/are true?

Watch Video Solution

= =
logx

b − c

logy

c − a

log z

a − b

13. If 
then the least value of 
is 4 (b)
8 (d) 16

(d) 32

Watch Video Solution

(log)2x + (log)2y ≥ 6, x + y

14. Solve : 

Watch Video Solution

(log)0 .3(x
2 − x + 1) > 0

15. Solve 

Watch Video Solution

1 < (log)2(x − 2) ≤ 2.

https://dl.doubtnut.com/l/_WSo36fszJXV1
https://dl.doubtnut.com/l/_UAJcoHi0SyHt
https://dl.doubtnut.com/l/_JF6HHGFaSaNm
https://dl.doubtnut.com/l/_ZaekHOQOmn5w
https://dl.doubtnut.com/l/_jMXF2mndHKcw


16. Solve : 

Watch Video Solution

6((log)
x
2 − (log)4x) + 7 = 0.

17. Solve  (base is e).

Watch Video Solution

4log2 logx = logx − (logx)2 + 1

18. Solve:


Watch Video Solution

4(log) (√x) + 2(log)4x(x
2) = 3(log)2x(x

3).x

2

19. Solve


Watch Video Solution

4 ( log ) 9x − 6x ( log ) 92 + 2 ( log ) 327 = 0

https://dl.doubtnut.com/l/_jMXF2mndHKcw
https://dl.doubtnut.com/l/_vCKGDTDlRvXh
https://dl.doubtnut.com/l/_CohPpwswOfzs
https://dl.doubtnut.com/l/_rqDW7FzmlHsX
https://dl.doubtnut.com/l/_FnwzOGgBZb5Z


20. Solve: 

Watch Video Solution

xlog2 √x = (2. x ( log2 x )) .
1

4

1
4

21. Solve 

Watch Video Solution

|x − 1| ( log10 x ) 2 − log10 x
2 = |x− 1 | 3

22. Solve 

Watch Video Solution

(log)2(x − 1) > 4.

23. Solve 

Watch Video Solution

(log)3(x − 2) ≤ 2.

https://dl.doubtnut.com/l/_R1rhEjrr4cdC
https://dl.doubtnut.com/l/_Pzr7nyItQBdZ
https://dl.doubtnut.com/l/_psqAB4dT8yay
https://dl.doubtnut.com/l/_N4onmYinZZkz


24. If 
are the roots of the equation 
with 

then
 
(b) 
 
(d) 

Watch Video Solution

x1andx2 e2xln x = x3 x1 > x2,

x1 = 2x2 x1 = x22 2x1 = x22 x12 = x23

25. If 

4 (b) 8
(c) 16 (d) 64

Watch Video Solution

xy2 = 4and(log)3((log)2x) + (log) ((log) y) = 1, thenxequals1
3

1
2

26. 
implies
 
(b) [2,2.5] (c)
(2,2.5) (d) (0,2.5)

Watch Video Solution

x ( log ) 5x > 5 x ∈ (0, ∞)

27. The number of real values of the parameter 
 for which


 with real coefficients will have

exactly one solution is
2 (b) 1
(c) 4 (d)
none of these

k

(log16 x)2 − (log)16x + (log)16k = 0

https://dl.doubtnut.com/l/_jiUOVZg9ccLg
https://dl.doubtnut.com/l/_a6NqHGhgPUY3
https://dl.doubtnut.com/l/_cfkF2kgMMNDz
https://dl.doubtnut.com/l/_qg5RtamwvfgL


Watch Video Solution

28. If 
 then 
 is

equal to
 
(b) 
(c) 
(d) 

Watch Video Solution

S = {x ∈ R : ((log)0 .60. 216)(log)5(5 − 2x) ≤ 0}, S

(2. 5, ∞) (2, 2.5) (2, 2.5) (0, 2.5)

29. If 
 , then


(b) 
(d) 
(d) none of these

Watch Video Solution

S = {x ∈ N : 2 + (log)2√x + 1 > 1 − (log) √4 − x2}1
2

S = {1} S = Z S = N

30. Equation

only one prime solution
 two real solutions
 no real solution
 (d) none of

these

Watch Video Solution

(log)4(3 − x) + (log)0 .25(3 + x) = (log)4(1 − x) + (log)0 .25(2x + 1)has

https://dl.doubtnut.com/l/_qg5RtamwvfgL
https://dl.doubtnut.com/l/_ANe9wpUCp3sq
https://dl.doubtnut.com/l/_HTSDkTma08T1
https://dl.doubtnut.com/l/_VNggcTfLCYJG


31. Solution set of the inequality 
 is
 
 (b) 


(c) 


Watch Video Solution

>
1

2x − 1

1

1 − 2x− 1
1, ∞)

0, (log)2( )
4
3

( − 1, ∞) (0, (log)2( ) ∪ (1, ∞)
4
3

32. The solution set of the inequality


is
 
(b) 
(c) 
(d)

Watch Video Solution

(log)10(x
2 − 16) ≤ (log)10(4x − 11) 4, ∞) (4, 5) ( , ∞)

11

4

( , 5)
11

4

33. Which of the following is a solution of

 ?

A. 

B. 

C. 

(logx)( − ) > ( − )
5

2

1

x

5

2

1

x

( , )
1

3

2

5

(1, 2)

( , )
2

5

1

2

https://dl.doubtnut.com/l/_dApITL9Vqujo
https://dl.doubtnut.com/l/_PG6C5lwr1Vwj
https://dl.doubtnut.com/l/_p8Z2cxu5d3P1


D. None of these

Answer: null

Watch Video Solution

34. Solve 

A. at least one real solution

B. exactly three solutions

C. exactly one irrational solution

D. complex roots

Answer: null

Watch Video Solution

x
[ ( log2 x ) 2 + log2 x− ]

= √2
3
4

5
4

https://dl.doubtnut.com/l/_p8Z2cxu5d3P1
https://dl.doubtnut.com/l/_AxJinjIWtUXh


35. Solve the following equation of

Watch Video Solution

x : 2(log)xa + (log)axa + 3(log)a2xa = 0, a > 0

36. Solve for 
.

Watch Video Solution

x : 4x − 3x− 1 / 2 = 3x+ 1 / 2 − 22x− 1

37. If P is the number of natural numbers whose logarithms to the base 10

have the the charecteristic p and Q is the numbers of natural numbers

logarithms of whose reciprocal to the base 10 have the charecteristics -q.

then find the value of 

Watch Video Solution

log10 P − log10 Q

https://dl.doubtnut.com/l/_33sX3vka4S63
https://dl.doubtnut.com/l/_mQm6uF4g6TQV
https://dl.doubtnut.com/l/_qkQwPFXfqQbM


38. Find the compound interest on Rs. 12000 for 10 years at the rate of

12%
per annum compounded annually.

Watch Video Solution

39. If

Watch Video Solution

x = (log)2aa, y = (log)3a2a, z = (log)4a3a, provethat1 + xyz = 2yz.

40. Let 
 denote antilog_32 0.6 and M denote the number of positive

integers which
have the characteristic 4, when the base of log is 5, and N

denote the value
of 
Find the value of 

Watch Video Solution

L

49(1 − ( log ) 72 ) + 5− ( log ) 54 . .
LM

N

https://dl.doubtnut.com/l/_V9lwfnfTeFPS
https://dl.doubtnut.com/l/_aj317hFosOR6
https://dl.doubtnut.com/l/_qioC98UDlzKG


41. Let 
 Find the characteristic and mantissa of the

logarithm of 
 to the base 10. Assume

Watch Video Solution

x = (0. 15)20.

x

(log)102 = 0. 301and(log)103 = 0. 477.

42. Using logarithms, find the value of 6.45 x 981.4

Watch Video Solution

43. In the 2001 census, the population of India was found to be 

If the population increases at the rate of 2.5% every year, what would
be

the population in 2011?

Watch Video Solution

8. 7x107.

https://dl.doubtnut.com/l/_AYSyKg0NI0xW
https://dl.doubtnut.com/l/_55kCxCcG168e
https://dl.doubtnut.com/l/_jR7onzFt3sfg


44. If 
 then find the number of

digits in 

Watch Video Solution

(log)102 = 0. 30103, (log)103 = 0. 47712,

312 ⋅ 28

45. If 
then find the value of 

Watch Video Solution

a = (log)1218, b = (log)2454, ab + 5(a − b).

46. Solve the equations for .

Watch Video Solution

x and y : (3x)log 3 = (4y)log 4, 4logx = 3log y

47. The real solutions of the equation 
is/are
1 (b)
2 (c) 


(d) 

Watch Video Solution

2x+ 2. 56 −x = 10x
2

−(log)10(250) (log)104 − 3

https://dl.doubtnut.com/l/_XRO3mgTSTd4W
https://dl.doubtnut.com/l/_UadsWAwh7Wch
https://dl.doubtnut.com/l/_tskXfNcksqab
https://dl.doubtnut.com/l/_o8Gd1WN04d8j
https://dl.doubtnut.com/l/_IvgKsnMjfPAq


48. If 
then 
is equal to

A. k

B. 1/5

C. 5

D. none of these

Answer: null

Watch Video Solution

(log)kx
.

log5k = (log)x5, k ≠ 1, k > 0, x

49. If , then

Watch Video Solution

p, q ∈ N  satisfy the equation x√x = (√x)
x

50. Solution set of the inequality 
is

A. 

(log)0 .8((log)6 ) < 0
x2 + x

x + 4

( − 4, − 3)

https://dl.doubtnut.com/l/_IvgKsnMjfPAq
https://dl.doubtnut.com/l/_SlXtKTg0cIgC
https://dl.doubtnut.com/l/_lY3tsBytvcZT


B. 

C. 

D. 

Answer: null

Watch Video Solution

( − 3, 4) ∪ (8, ∞)

( − 3, ∞)

( − 4, − 3) ∪ (8, ∞)

51. Which of the following is not the solution of


 is
 
 (b) 


(d) none of these

Watch Video Solution

(log)3(x
2 − 2) < (log)3( |x| − 1)

3

2
(√2, 2) ( − 2, − √2)

( − √2, 2

52. The true solution set of inequality 
 is equal

to (a) 
 (b)
 
 (c) 
 (d) 

(log) ( x+ 1 ) (x
2 − 4) > 1

(2, ∞) (2, )
1 + √21

2
( , )

1 − √21

2

1 + √21

2

( , ∞)
1 + √21

2

https://dl.doubtnut.com/l/_lY3tsBytvcZT
https://dl.doubtnut.com/l/_MjTnKc6lR4mB
https://dl.doubtnut.com/l/_o2GwyQhwqIxH


Watch Video Solution

53. Solve the following equation of

Watch Video Solution

x : 2(log)xa + (log)axa + 3(log)a2xa = 0, a > 0

54. The 
 are positive real numbers such that 


 then the value of 

is ............

Watch Video Solution

x, y, z

(log)2xz = 3, (log)5yz = 6, and(log)
xy
z = ,

2

3
( )

1

2z

55. Which of the following, when simplified, reduces to unity?

A. 

B. 

C. 

(log)105
.

log1020 + ((log)102)
2

2 log 2 + log 3

log 48 − log 4

−(log)5(log)3√5√9

https://dl.doubtnut.com/l/_o2GwyQhwqIxH
https://dl.doubtnut.com/l/_UZmzYksXG21o
https://dl.doubtnut.com/l/_UTTpV3utpzQX
https://dl.doubtnut.com/l/_qNQxSaFEI5uX


D. 

Answer: null

Watch Video Solution

(log) ( )
1

6
√3

2

64
27

56. If 
 for permissible values of  and 
 then identify the

statement(s) which can be correct.
 (a)If  and 
 are two irrational

numbers, then
 
can be rational.
(b)If 
is rational and 
is irrational, then


 can be rational.
 (c)If 
 is irrational and 
 is rational, then 
 can be

rational.
(d)if 
are rational, then 
can be rational.

Watch Video Solution

(log)ax = b a x,

a b

x a b

x a b x

aandb x

57. The value of x satisfying 

 is

Watch Video Solution

x + log10(1 + 2x) = x log10 5 + log10 6

https://dl.doubtnut.com/l/_qNQxSaFEI5uX
https://dl.doubtnut.com/l/_GporVilPhqZF
https://dl.doubtnut.com/l/_1JLo37GaLgDB
https://dl.doubtnut.com/l/_7DTW4L126EaR


58. Solve:


Watch Video Solution

( )
log10a2

+ 2 >
1
2

3

2 ( log ) 10 ( −a )

59. Write the characteristic of each of the following numbers by using

their standard forms:
1235.5      (ii)  346.41        (iii) 
62.723       (iv)  7.12345

0.35792    (vi)  0.034239  
(vii)  0.002385   (viii) 0.0009468

Watch Video Solution

60. Solve: 

Watch Video Solution

(log)0 .1((log)2( ) < 0
x2 + 1

x − 1

61. Solve: 

Watch Video Solution

≤ 1.
x − 1

(log)3(9 − 3x) − 3

https://dl.doubtnut.com/l/_7DTW4L126EaR
https://dl.doubtnut.com/l/_zrwwoS1aqjqz
https://dl.doubtnut.com/l/_ux62kCQ7aERT
https://dl.doubtnut.com/l/_q1Bqcf9C1MB1
https://dl.doubtnut.com/l/_FKide5AiMluP


62. Find the mantissa of the logarithm of the number 0.002359

Watch Video Solution

63. Use the logarithm tables to find the logarithm of the following

numbers
(1)25795 (ii)25.795

Watch Video Solution

64. Write the significant digits in each of the following numbers to

compute the mantissa of their logarithms:
3.239          (ii)   8               
                 (iii) 

0.9      
    (iv)  0.02
0.0367    (vi)  89               (vii) 
0.0003    (viii) 0.00075

Watch Video Solution

65. Find the mantissa of the logarithm of the number 5395

Watch Video Solution

https://dl.doubtnut.com/l/_FKide5AiMluP
https://dl.doubtnut.com/l/_U9LQwIBOf0Db
https://dl.doubtnut.com/l/_8MDmCDBTUs4Q
https://dl.doubtnut.com/l/_hN9yauNqzJQR


66. Write the significant digits in each of the following numbers to

compute the mantissa of their logarithms:
 3.239 (ii) 8
 (iii) 0.9
 (iv) 0.02

0.0367 (vi) 89 (vii)
0.0003 (viii) 0.00075

Watch Video Solution

67. Evaluate 

Watch Video Solution

(72.3) if log 0. 723 = 1̄. 8591.
1
3

68. Integral value of 
 which satisfies the equation

Watch Video Solution

x

log6 54 + logx 16 = (log)√2x − (log)36( )is
4
9

https://dl.doubtnut.com/l/_hN9yauNqzJQR
https://dl.doubtnut.com/l/_6LJywsGfjwW7
https://dl.doubtnut.com/l/_7dJnwS4lGXdl
https://dl.doubtnut.com/l/_p9iTF5WzSz5i


69. If 
  (where [
 ]

represents the greatest integer function) equals ..............

Watch Video Solution

(log)4A = (log)6B = (log)9(A + B), then [4( )]
B

A

70. The value of 
is ............

Watch Video Solution

(log10 2)3 + log10 8 log10 5 + (log10 5)3

71. If 
then the value

of 
is............

Watch Video Solution

(log)ab = 2, (log)bc = 2, and(log)3c = 3 + (log)3a,

c/(ab)

72. The inequality 
 is satisfied by
 (A) only one value of 

(B) 
 
(d) 

Watch Video Solution

√x ( log ) 2√x ≥ 2 x

x ∈ (0, ( )]
1

4
(C)x ∈ [4, ∞) x ∈ (1, 2)

https://dl.doubtnut.com/l/_58gr5jM6RBOs
https://dl.doubtnut.com/l/_eMbcfHd0CrDo
https://dl.doubtnut.com/l/_MxApz28831DT
https://dl.doubtnut.com/l/_s4tt1DWZyaWs


73. If 



 
(d) none of these

Watch Video Solution

(log)105 = aand(log)103 = b, then (A)(log)308 =
3(1 − a)

b + 1

(B)(log)4015 =
a + b

3 − 2a
(C)(log)24332 =

1 − a

b

74. The equation 
has
(A) two real

solutions
(B) no prime solution
(C) one integral solution
(D) no irrational

solution

Watch Video Solution

(log)x+ 1(x − .5) = (log)x− 0 .5(x + 1)

75. The difference of roots of the equation 
 is

.......

Watch Video Solution

((log)27x
3)

2
= (log)27x

6

https://dl.doubtnut.com/l/_s4tt1DWZyaWs
https://dl.doubtnut.com/l/_vgiegdmNzHAt
https://dl.doubtnut.com/l/_66RC95jUfzgH
https://dl.doubtnut.com/l/_0Twb7AJsvchM


76. Number of integers satisfying the inequality 

is.....

Watch Video Solution

(log) |x − 3| > − 11
2

77. The number of elements in set of all 
 satisfying the equation


(a)1 (b) 2 (c) 3 (d) 0

Watch Video Solution

x

xlog3 x
2 + ( log3 x ) 2 − 10 = is

1

x2

78. Number of real values of 
 satisfying the equation

,is
(a) (b)  (c)  (d)

Watch Video Solution

x

log2(x
2 − x) ⋅ log2( ) + (log2 x)2 = 4

x − 1

x
0 2 3 7

79. Let 
 be a real number. Then the number of roots equation 


is
2 (b) infinite (c)
0 (d) 1

a > 1

a2 ( log ) 2x = 15 + 4x ( log ) 2a

https://dl.doubtnut.com/l/_CtEI2cfea6cD
https://dl.doubtnut.com/l/_LdDn43YKUDyJ
https://dl.doubtnut.com/l/_hgw4zRaKCrmL
https://dl.doubtnut.com/l/_5jOPL3ITCcCq


Watch Video Solution

80. Number of integers 
 satisfying the inequality 


is............

Watch Video Solution

≤ 10

2(log) (x − 1) ≤ −1
2

1

3

1

(log)
x2 −x

8

81. The number of roots of the equation 
is

A. 1

B. 2

C. 3

D. 0

Answer: null

Watch Video Solution

(log)3√xx + (log)3x√x = 0

https://dl.doubtnut.com/l/_5jOPL3ITCcCq
https://dl.doubtnut.com/l/_FO69vJWLyqe9
https://dl.doubtnut.com/l/_17oxMrFuXvW3


82. The value of 
is...........

Watch Video Solution

(log)√4 + 2√2√4 − 2√2
29

83. Find the value of


Watch Video Solution

(log)2(293 − 2) + (log)2(1233 + 4 + 493).

84. Find the number of solutions of the following equations:




Watch Video Solution

x− (log)0 .5x = 1
1
2 x2 − 4x + 3 − (log)2x = 0

85. Find the number of solution to equation 

Watch Video Solution

(log)2(x + 5) = 6 − x :

https://dl.doubtnut.com/l/_PjpdjkQ665gK
https://dl.doubtnut.com/l/_sc9mRB15mpz0
https://dl.doubtnut.com/l/_C8GaJ49kJJx1
https://dl.doubtnut.com/l/_7DgRrBcWHf63


86. Solve : 

Watch Video Solution

2(25)x − 5(10x) + 2(4x) ≥ 0.

87. If

Watch Video Solution

= = , provethatxyyx = zxyz =
x(y + z − x)

logx

y(z + x − y)

logy

z(x + y − z)

log z

88. If 
find 
in terms of 

Watch Video Solution

(log)3y = xand(log)2z = x, 72x y and z.

89. If and , then prove that 

Watch Video Solution

(log)a3 = 2 (log)b8 = 3 (log)ab = (log)34.

https://dl.doubtnut.com/l/_5wZPT7G738AW
https://dl.doubtnut.com/l/_wvhY2lB6FEPF
https://dl.doubtnut.com/l/_RqChYEX5pk5T
https://dl.doubtnut.com/l/_jY5wNj3ALwXI


90. Find the value of log 

Watch Video Solution

tan 10log tan 20.......... . log tan 890

91. Sum of integers satisfying 

is......

Watch Video Solution

√(log)2x − 1 − (log)2(x
3) + 2 > 0

1

2

92. The value of 
 for which the equation


 has coincident roots is



 (b) 
 (c) 
 (d)

Watch Video Solution

b

2(log) (bx + 28) = − (log)5(12 − 4x − x2)1
25

b = − 12 b = 4 or b = − 12 b = 4 or b = − 12

b = − 4 or b = 12

https://dl.doubtnut.com/l/_Xu2Y9k4LkWwU
https://dl.doubtnut.com/l/_8oCXzDhAhZV3
https://dl.doubtnut.com/l/_Lx7W0ksZEy9r


93. The least integer greater than 
 is

................

Watch Video Solution

(log)2(15) ⋅ (log) 2 ⋅ (log)31
6

1

6

94. The reciprocal of 
is ............

Watch Video Solution

+
2

(log)4(2000)
6

3

(log)5(2000)
6

95. The value of 

is.........

Watch Video Solution

5
( log ) ( )

+ (log)√2 + (log)
1
5

1
2 4

√7 + √3
1
2

1

10 + 2√21

96. The value of 
is...........

Watch Video Solution

N = −
(log)5250

(log)505

(log)510

(log)12505

https://dl.doubtnut.com/l/_g9pNZM6CZMII
https://dl.doubtnut.com/l/_yyskCi6b9aWF
https://dl.doubtnut.com/l/_IC2uFGuIfPod
https://dl.doubtnut.com/l/_AVVELBARas8L


97. If 
 are real numbers such that 

,then find .

Watch Video Solution

xandy 2 log(2y − 3x) = logx + logy

x

y

98. If 
 then find the relation

between 

Watch Video Solution

loge( ) = (loge a + loge b),
a + b

2
1
2

a and b.

99. If 
then 
is equal to

Watch Video Solution

2x ( log ) 43 + 3 ( log ) 4x = 27, x

100. The value of 

A. 

logab − log|b| =

loga

https://dl.doubtnut.com/l/_EAp2i0OSlELv
https://dl.doubtnut.com/l/_jJuvPEu2Nat9
https://dl.doubtnut.com/l/_fteAMj6TOoO4
https://dl.doubtnut.com/l/_YVwYmsktvkaE


B. 

C. 

D. none of these

Answer: null

Watch Video Solution

log|a|

−loga

101. If 
, then the value of 
is

A. 0

B. 1

C. 2

D. 4

Answer: null

Watch Video Solution

(21. 4)a = (0. 00214)b = 100 −
1

a

1

b

https://dl.doubtnut.com/l/_YVwYmsktvkaE
https://dl.doubtnut.com/l/_sTk89gbVApeh
https://dl.doubtnut.com/l/_ElmFElWIv3Y5


102. Given that 
 the number of digits in the number 


is
6601 (b)
6602 (c) 6603 (d) 6604

Watch Video Solution

log(2) = 0. 3010,

20002000

103. The number of 
 lies between two

successive integers whose sum is equal to
(a)5 (b) 7 (c) 9 (c) 10

Watch Video Solution

N = 6 − (6(log)102 + (log)1031)

104. 
is

A. a rational number

B. an irrational number

C. a prime number

D. none of these

Answer: null

(log)418

https://dl.doubtnut.com/l/_ElmFElWIv3Y5
https://dl.doubtnut.com/l/_QCXgVJObICKa
https://dl.doubtnut.com/l/_IcXp7Jrg4Eyq


Watch Video Solution

105. Solve:

Watch Video Solution

(log) ( 2x+ 3 ) (6x2 + 23x + 21) + (log) ( 3x+ 7 ) (4x2 + 12x + 9) = 4

106. Given 
 are positive numbers satisfying 


Find the range of values of 

Watch Video Solution

aandb

4(log10 a)2 + ((log)2b)
2

= 1. aandb.

107. If

and not equal to 1, then prove that 

Watch Video Solution

= , whereN > 0andN ≠ 1, a, b, c > 0
(log)aN

(log)cN

(log)aN − (log)bN

(log)bN − (log)cN

b2 = ac

https://dl.doubtnut.com/l/_IcXp7Jrg4Eyq
https://dl.doubtnut.com/l/_v20jhTumphfL
https://dl.doubtnut.com/l/_s2gCqIlKYttf
https://dl.doubtnut.com/l/_0KEkst5c9NIs
https://dl.doubtnut.com/l/_fUuyKRIwgPJ7


108. If 
(where 

are different positive real numbers 
then find the value of 

Watch Video Solution

(log)ba(log)ca + (log)ab(log)cb + (log)ac(log)bc = 3 a, b, c

≠ 1), abc.

109. Solve for: 
.

Watch Video Solution

x : (2x)
( log )

b
2

= (3x)
( log )

b
3

110. Let 
 An integer 
 satisfying 

must be less than ..........

Watch Video Solution

a = (log)3(log)32. k 1 < 2−k+ 3 ( − a)

< 2,

111. The value of
 
 is

...............

Watch Video Solution

6 + (log)
⎡

⎣
⋅




⎷

(4 − )√4 − .......3
2

1

3√2

1

3√2

1

3√2

https://dl.doubtnut.com/l/_fUuyKRIwgPJ7
https://dl.doubtnut.com/l/_kIpYDBI45AQ5
https://dl.doubtnut.com/l/_ctshbtjgc2vF
https://dl.doubtnut.com/l/_zsXlV5J5UvHS


112. 
is equal to:

A. 9

B. 16

C. 25

D. none of these

Answer: null

Watch Video Solution

(log)
x− 1x(log)

x− 2(x − 1).... . (log)
x− 12(x − 11) = 2, x

113. If 
 (a) 
 (b)


 (c) 
 (d)

Watch Video Solution

f(x) = log( ), then
1 + x

1 − x
f(x1)f(x2) = f(x1 + x2)

f(x + 2) − 2f(x + 1) + f(x) = 0 f(x) + f(x + 1) = f(x2 + x)

f(x1) + f(x2) = f( )
x1 + x2

1 + x1x2

https://dl.doubtnut.com/l/_zsXlV5J5UvHS
https://dl.doubtnut.com/l/_NIZGIT1TvRre
https://dl.doubtnut.com/l/_vwcDmBy4z4h1
https://dl.doubtnut.com/l/_hLAHhCeGiKkM


114. If 
 are consecutive positive integers and 

then the value of 
is

A. 

B. 

C. 2

D. 1

Answer: null

Watch Video Solution

a, b, c log(1 + ac) = 2K,

K

log b

loga

115. If  ,then b is equal to 
(2) 
 (c) 

(d) 

Watch Video Solution

= = b
a + (log)43

a + (log)23

a + (log)83

a + (log)43

1

2

2

3

1

3
3

2

https://dl.doubtnut.com/l/_hLAHhCeGiKkM
https://dl.doubtnut.com/l/_FWmmnK7Jq91I


116. If  and  are such that then the

value of  is equal to

A. 0

B. 1

C. 2

D. none of these

Answer: null

Watch Video Solution

p > 1 q > 1 log(p + q) = logp + log q,

log(p − 1) + log(q − 1)

117. The value of 
is

A. 2

B. 3

C. 4

+ ((log)62)
21 + 2(log)32

(1 + (log)32)
2

https://dl.doubtnut.com/l/_yYygfuUhm9MV
https://dl.doubtnut.com/l/_rlKBtxvgJRsi


D. 1

Answer: null

Watch Video Solution

118. If 
 then 
 is equal to
 
 (b) 


(c) 
(d) 

A. 

B. 

C. 

D. 

Answer: null

Watch Video Solution

(log)45 = aand(log)56 = b, (log)32
1

2a + 1
1

2b + 1
2ab + 1

1

2ab − 1

1

2a + 1

1

2b + 1

2ab + 1

1

2ab − 1

https://dl.doubtnut.com/l/_rlKBtxvgJRsi
https://dl.doubtnut.com/l/_fktwqAy7F7me


119. If  in terms of  and  is

equal to (a)  (b)  (c)  (d) 

Watch Video Solution

(log)102 = a, (log)103 = bthen(log)0 .72(9. 6) a b

2a + 3b − 1

5a + b − 2

5a + b − 1

3a + 2b − 2

3a + b − 2

2a + 3b − 1
2a + 5b − 2

3a + b − 1

120. There exists a natural number 
which is 50 times its own logarithm

to the base 10, then 
is divisible by

Watch Video Solution

N

N

121. The value of 
is
3 (b) 0
(c) 2 (d) 1

Watch Video Solution

−
(log)224

(log)962

(log)2192

(log)122

122. Find the number of solutions of equation


Watch Video Solution

(2x − 3)2x = 1

https://dl.doubtnut.com/l/_urYizKWH6RUs
https://dl.doubtnut.com/l/_I5zk1RpyJiKe
https://dl.doubtnut.com/l/_FXq8lfnnGYV8
https://dl.doubtnut.com/l/_qwiq9XPqSxvF


123. Find the value of 

Watch Video Solution

(log)2√31728.

124. Prove that 

Watch Video Solution

< (log)103 < .
1

3

1
2

125. Arrange 
in decreasing order.

Watch Video Solution

(log)25, (log)0 .55, (log)75, (log)35

126. If 
, then 

A. 

B. 

3x = 4x− 1
x =

2(log)32

2(log)32 − 1

2

2 − (log)23

https://dl.doubtnut.com/l/_qwiq9XPqSxvF
https://dl.doubtnut.com/l/_75yiaLswo9x5
https://dl.doubtnut.com/l/_Gh4enfuk0eSw
https://dl.doubtnut.com/l/_Ve9H6245tFg0
https://dl.doubtnut.com/l/_YPZzovpdAeZM


C. 

D. 

Answer: null

Watch Video Solution

1

1 − (log)43

2(log)23

2(log)23 − 1

127. Solve:


Watch Video Solution

|x − 3|3x2 − 10x+ 3 = 1

128. Solve:


Watch Video Solution

( )
x

^ (2 − 2x) < 1/4.
1

2

129. Find the smallest integral value of 
satisfying 

Watch Video Solution

x (x − 2)x
2 − 6x+ 8) > 1

https://dl.doubtnut.com/l/_YPZzovpdAeZM
https://dl.doubtnut.com/l/_TfW4GVV9wj5w
https://dl.doubtnut.com/l/_ur8pBA8YJJeU
https://dl.doubtnut.com/l/_J7Dc6ji3ALz1


130. The least value of the expression 
for 

is

A. 10

B. 2

C. 0.01

D. 4

Answer: null

Watch Video Solution

2(log)10x − (log)x(0.01). x > 1

131. The solution of the equation 
is...

Watch Video Solution

(log)7(log)5(√x + 5 + √x) = 0

132. Let 
 be the solution of the following equations:



 
The 
is
 
(b) 
(c) 
(d) 6

(x0, y0)

(2x)1n2 = (3y)1n3 31nx = 21ny x0
1

6

1

3

1

2

https://dl.doubtnut.com/l/_5Kur54GEfN9k
https://dl.doubtnut.com/l/_64cvjulttp3H
https://dl.doubtnut.com/l/_aSAQQunTOM7C


Watch Video Solution

133. If In 
are in 
then

A. 

B. 

C. 
are in 

D. 
are in 

Answer: null

Watch Video Solution

(a + c), ln(a − c), ln(a − 2b + c) A
.
P .,

a, b, c, are ∈ A
.
P .

a2, b2, c2are ∈ A
.
P .

a, b, c G
.
P .

a, b, c H
.
P .

134. Prove that number 
is an irrational number.

Watch Video Solution

(log)27

https://dl.doubtnut.com/l/_aSAQQunTOM7C
https://dl.doubtnut.com/l/_HZuhIjCAJitg
https://dl.doubtnut.com/l/_mY4g10DDVvrj


135. Which of the following numbers are positive/negative?
 
 (ii) 


(iii) 
(iv) 
(v) 

A. 

B. 

C. 

D. null

Answer: null

Watch Video Solution

(log)27

(log)0 .23 (log)1 / 3( )
1

5
(log)43 (log)2((log)29)

(log)27

(log)0 .23

(log)1 / 3( )
1

5

136. If 
 are in arithmetic

progression, determine the value of 

Watch Video Solution

(log)32, (log)3(2x − 5)and(log)3(2x − )
7
2

x.

https://dl.doubtnut.com/l/_2mBz4BlzPEU9
https://dl.doubtnut.com/l/_a6VVxS8yuDMO


137. Solve 

Watch Video Solution

x ( log ) yx = 2 and y ( log )
x
y = 16

138. Solve 

Watch Video Solution

(log)2x2 + (log)42x = − 3/2.

139. If 
 then find the largest possible value of the expression 

Watch Video Solution

a ≥ b > 1,

(log)a( ) + (log)b( ).
a

b

b

a

140. Solve : 

Watch Video Solution

3 ( log9 x ) × 2 = 3√3

https://dl.doubtnut.com/l/_mvqtc5SKhg3S
https://dl.doubtnut.com/l/_wZzVa8tU87vI
https://dl.doubtnut.com/l/_76gNjAiEjm2c
https://dl.doubtnut.com/l/_ma9qMKYzPDS3


141. Solve the inequality 

Watch Video Solution

√(log)2( ) < 1
2x − 3

x − 1

142. Find the number of solutions of equation 

Watch Video Solution

2x + 3x + 4x − 5x = 0

143. If
  and ,then prove that 

Watch Video Solution

y = a
1

1 − (log )ax z = a
1

1 − (log )ay x = a
1

1 − (log )az

144. Solve 

Watch Video Solution

(log)x2(log)2x2 = (log)4x2.

https://dl.doubtnut.com/l/_I1K6G5vOWgXE
https://dl.doubtnut.com/l/_PoLDmIOGkdnr
https://dl.doubtnut.com/l/_LBXdWt9Onw21
https://dl.doubtnut.com/l/_4WSvLacAAkYZ


145. Let 
 be positive integers such that 


 If 
 then find the value of 

Watch Video Solution

a, b, c, d

(log)ab = and(log)cd = .
3

2

5

4
(a − c) = 9,

(b − d).

146. Solve 
(base is 10).

Watch Video Solution

√log( − x) = log√x2

147. If 
then 
is equal to

A. 4

B. 3

C. 8

D. 

Answer: null

(log)3{5 + 4(log)3(x − 1)} = 2, x

(log)216

https://dl.doubtnut.com/l/_l4mm23uSdMP0
https://dl.doubtnut.com/l/_1cu3DNq3jxqh
https://dl.doubtnut.com/l/_ytm3aiz360ei


Watch Video Solution

148. If 
 , then 
 4 (b) 3
 (c) 2

(d) 1

Watch Video Solution

(log)10[ ] = x[(log)105 − 1]
1

2x + x − 1
x =

149. The value of 
satisfying the equation
 
1

(b)
3 (c) 18 (d) 54

Watch Video Solution

x 3√5
( log5 ) 5

( ( log )5 ( log )5 log5( ) )
= 3

x

2

150. If 
 then the value of 


 is
 1
 (b) 
 
 (d) none of

these

Watch Video Solution

2x+y = 6yand3x− 1 = 2y+ 1,

(log 3 − log 2)(x − y) (log)23 − (log)32 (c)log( )
3
2

https://dl.doubtnut.com/l/_ytm3aiz360ei
https://dl.doubtnut.com/l/_yEiXOusM809X
https://dl.doubtnut.com/l/_NWbKVgPsmq4T
https://dl.doubtnut.com/l/_NHzyA2iisO95
https://dl.doubtnut.com/l/_S9HwnSIx01Tx


151. The value of 
is

A. 0

B. 1

C. 2

D. none of these

Answer: null

Watch Video Solution

3 ( log ) 45 − 5 ( log ) 43

152. If  then the value of  equals

Watch Video Solution

a4b5 = 1 loga(a
5b4)

153. If

2 (b) 65/8 (c) 37/6 (d) none of these

(log)2x + (log)x2 = = (log)2y + (log)y2 and x ≠ y, thex + y =
10

3

https://dl.doubtnut.com/l/_S9HwnSIx01Tx
https://dl.doubtnut.com/l/_S9sNYrrLz5Bf
https://dl.doubtnut.com/l/_s1FlzgVTapNx


Watch Video Solution

154. If 
then
all the roots are positive

real numbers
all the roots lie in the interval (0,100)
all the roots lie in the

interval [-1,99]

Watch Video Solution

(x + 1) ( log ) 10 ( x+ 1 ) = 100(x + 1),

155. if 
the value of 
is

A. 9

B. 12

C. 15

D. 30

Answer: null

Watch Video Solution

(log)yx + (log)xy = 2, x2 + y = 12, xy

https://dl.doubtnut.com/l/_s1FlzgVTapNx
https://dl.doubtnut.com/l/_UXOwKtdPMdnS
https://dl.doubtnut.com/l/_JGYlqB21JsR9


156. If 
then 
equals
odd integer
(b) prime

number
composite number (d) irrational

Watch Video Solution

√(log)2x − 0. 5 = (log)2√x, x

157. Find the value of


Watch Video Solution

81 ( 1 / log5 3 ) + (27log9 36) + 3
( )4

log7 9

158. Find the value of


Watch Video Solution

( )
1 + ( log ) 72

+ 5
− 1 ( log )

( )
( 7 )1

49

1
5

159. If 
b 8=3, then prove that 

Watch Video Solution

(log)a3 = 2and log (log)ab = (log)34.

https://dl.doubtnut.com/l/_DsFDrM6fk5li
https://dl.doubtnut.com/l/_JOAct8yqRne7
https://dl.doubtnut.com/l/_93ZL07WtHPKm
https://dl.doubtnut.com/l/_PfhyyY0ZKqr2


160. Prove that 

Watch Video Solution

> 0
2 ( log ) 2 x − 3 ( log ) 27 (x

2 + 1 )
3

− 2x
1
4

74 ( log ) 49x − x − 1

161. Solve 

Watch Video Solution

(log)48 + (log)4(x + 3) − (log)4(x − 1) = 2.

162. Which of the following pairs of expression are defined for the same

set
 of values of 
 ?


Watch Video Solution

x f1(x) = 2(log)2xandf2(x) = (log)10x
2

f1(x) = (log)x2
×andf2(x) = 2

f1(x) = (log)10(x − 2) + (log)10(x − 3)andf2 ( x ) = (log)10(x − 2)(x − 3)

163. Solve 

Watch Video Solution

(log)2(3x − 2) = (log) x1
2

https://dl.doubtnut.com/l/_RAefPFEZSx8p
https://dl.doubtnut.com/l/_PTsKApkhFRat
https://dl.doubtnut.com/l/_m1ZgSAMeuDZX
https://dl.doubtnut.com/l/_MhW9kf9pQCfo


164. Solve 

Watch Video Solution

log( − x) = 2 log(x + 1).

165. Solve: 

Watch Video Solution

(log)2(4.3x − 6) − (log)2(9x − 6) = 1.

166. Solve 

Watch Video Solution

2x+ 227x / ( x− 1 ) = 9

167. Suppose 
 are not equal to 1 and 

Find the value of 

Watch Video Solution

x, y, z logx + logy + log z = 0.

(x + )(y + )(z + )
1

logy
1

log z
1

log z
1

logx
1

logx
1

logy

https://dl.doubtnut.com/l/_MhW9kf9pQCfo
https://dl.doubtnut.com/l/_YamJ2666Iswa
https://dl.doubtnut.com/l/_uZS252NUFMoP
https://dl.doubtnut.com/l/_aaUEFN26wQkV
https://dl.doubtnut.com/l/_YgvCL65Y7WtQ
https://dl.doubtnut.com/l/_lzm3oRbN5HgL


168. If 
then find 

Watch Video Solution

(log)1227 = a, (log)616∫ermsofa

169. If 
then prove that 

Watch Video Solution

y2 = xz and ax = by = cz, (log)ab = (log)bc

170. Simplify:


Watch Video Solution

+ +
1

1 + (log)
a
bc

1

1 + (log)
b
ca

1

1 + (log)
c
ab

171. If  then the value of xyz is

Watch Video Solution

ax = b, by = c, cz = a

https://dl.doubtnut.com/l/_lzm3oRbN5HgL
https://dl.doubtnut.com/l/_m11GAUu8befX
https://dl.doubtnut.com/l/_VEgcrZ9O2Ph0
https://dl.doubtnut.com/l/_zFnS1b3VsIVZ


172. Find the value of

Watch Video Solution

((log)34)((log)45)((log)56)((log)67)((log)78)((log)89).

173. , then find x in terms of y.

Watch Video Solution

y = 2
1

( log )x4

174. If ,then prove that

Watch Video Solution

n > 1

+ + ....... + = .
1

(log)2n

1

(log)3n

1

(log)53n

1

(log)53 !n

175. What is logarithm of ?

Watch Video Solution

32 5√4  to the base 2√2

https://dl.doubtnut.com/l/_IQ6e2lQrs8s9
https://dl.doubtnut.com/l/_0bbHDTqZXoJ7
https://dl.doubtnut.com/l/_QOPJYm0rl171
https://dl.doubtnut.com/l/_aDAiN8Um6TdX
https://dl.doubtnut.com/l/_Ppcrmq9UeS4F


176. Which is greater: 

Watch Video Solution

x = (log)35 or y = (log)1725?

177. The product of roots of the equation 
is

A. 1

B. 0

C. 

D. 

Answer: null

Watch Video Solution

= 3
3

(log8 x)2

1/3

1/4

https://dl.doubtnut.com/l/_Ppcrmq9UeS4F
https://dl.doubtnut.com/l/_WDAuUsizyS1Z

